~.

0o ﬂ- 7 == vA=g
A% A 5 g/
5 70 0.952
12 120 3.917
- 20 100 5.440
25 80 5.440
S 30 65 5.304
AB0B3 TS 40 75 8.160
£ D>4,000
A A
o
M A % 60 60 | L=4,000  9.792
] 70 70 13.32
| _66063 15 80 80 17.408
] &E>2,000 [Tpg 100 27.200
A B t
30 100 25 1.700
50 150 3 3.166
AB0B3 T5
60 120 2.8 2.638
£ & >5,000
A A t
30 30 15 0.465
P 100 100 3.166
£&D>5,000
® Fv_xJU A6063T5
. FrrrIV (%IFRAI) L=5,000 wuzmg B2fdFvRIV L=3,640 | mifuEs
R =N L/ A B t (kg/mt) A B t (kg/mt)
10 18 2 0.185 8 5.5 1 0.053
20 35 2.4 0.455 10 7.5 1 0.069
15 30 2 0.302 10 8 1 0.071
B |« 40 75 3.2 1.293 10 10 1 0.076
f 65 125 6 3.966 15 10 1 0.103
’j %75 150 8 6.180 10 12 1 0.082
v = 11 14 1 0.092
\ \ 20 8.5 15 0.186
12 18 1 0.109
13 22 1 0.125
15 27 1 0.150
15 32 1 0.163
7 ~ AN
® 77>7]b AB0B3T5 Sold L=3,640 & L=4,000
- 507> 71V L=4,000  mpmg B2A7JIL HEE
RaL A A t | (kam) | A A £ (kg/mi)
10 10 1.2 0.061 Y 9 9 0.8 0.037
. 15 15 2 0.152 Y 12 12 0.8 0.050
>l - 15 15 3 0.220 Y 15 15 0.8 0.064
I 20 20 1.5 0.157 19 19 0.8 0.081
T 60 60 6 1.860 Y% 25 25 0.8 0.107
R veyre— 65 65 6 2.024 Y& 30 30 0.8 0.129
100 100 10 5.168 % 50 50 1.3 0.349
% 30 30 1.4 0.223
REDT7 VTV L=4,000 mifEs % 45 45 1.5 0.361
A B t (kg/mt) % 60 60 2 0.642
10 20 15 0.116 § gg ;g gg 8'825
15 20 2 0.180 : === 987
t 15 o5 o 0207 | B2RARFBT VTV BEE
fngiine 20 40 2 0.316 A B t (kg/mt)
I\ 20 30 3 0384 | Y 6 12 12 0.055
l 35 50 4 0.881 Y 6 18 1 0.063
iPe—r— 50 75 5 1.632 % 10 25 15 0.137
% 10 30 1.5 0.157
% 10 40 15 0.198
% 15 20 1.4 0.128
% 15 20 2 0.180
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